INVERSE TRIGONOMETRIC FUNCTIONS- EXERCISE
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tan”' % < g, x € N, then the maximum value of
X is
(1) 2 (2) 5 3) 7 (4) None
If m <x < 2rthen cos(cos x) is equal to
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The value of x for which
sin(cot™ (1 + x)) = cos(tan™ x) is
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Domain of the function f(x) = sin"!(Ix - 11 - 2)
is

(1) R 2) -2, 2]

3) -2, 0l v [2, 4] (4) -2, 4]

The set of values of P for which

x? — px + sin"! (sin 4) > O for all real x is given by

(1) (4, 4) (2) (o0, —4) U (4, )
3) ¢ (4) None
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16. The solution of the inequallity 23. Number of integral solutions of the inequality is/are
(cotx)2 — Beot™x + 6 > 0 is 3x? + 8x < 2 sin"Ysind) — cos(cos4)
(1) (cot 3, cot 2) (1) 2 2) 3
(2) (~ o, cot 3) U (cot 2, «) 31 (4) zero
(3) (cot 2, ) 10
(4) None 24. If Z:(COS’l X; +cos ™' yi) =207, then the value of
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4 4 44 26. Sum of n terms of the series
cot1(2.12) + cot1(2.29) + cot1(2.39) ..... is

18. The domain of the function f(x) = sec}[1+cos?x] is

(where [.] is G. 1. F). n+1
(1) (0700) (2) [0,00) (1) tarl'1 (rl + ].) (2) tarl‘1 n
(3) (~o0,00) (4) (~oo,~1]U[1,00)
19. The domain of ) tarrl( n ) (@ tan-(1)
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f(x) = cos‘l[ XJ+ cosec‘l( ) jis
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27. Value of sin! [g) + tan! (7j is:

. .
@< @

3’ a+x
20. If (sin”’x)? + (sin"'y)? + (sin”'z)? = %; then find | 28. If tan™ ( . j+ tan 1( j — thenx*="7
1

the minimum value of (x + y + 2) 2332 (2) 12a%
(1) 0 (2) 3 (3) -3 49
21. If ZA = 90°in AABC ; then (3) 2@ al (4) 12a2
af ¢ ] DL 12-2)x?
tan [a + bj + tan (a + Cj B 29. The maximum value of f(x) = tan! [%
. n is:
(1) 0 21 (3) 1 (4) G 0 o o n 9 = “ =
E g g 10 5 8 12
29 sin'| sin 1+ g + tan” 3 =99 30. If the equation
: cot'1+cot"'2+cot'3
10 @) -2 sin " v/x +cos *Wx* -1 +tan '(tany)=a
(3)2 - n @) g has at least one solution, then number of integral
values of a is -
(1)1 (2) 2 (3) 3 4) 4
Que. 1 . 3 4 5 6 7 8 9 10
Ans. 4 4 1 1 2 4 2 4 3
Que. 11 12 13 14 15 16 17 18 19 20
Ans. 2 4 3 3 4 2 3 3 1 3
Que. 21 22 23 24 “h 26 27 28 2 30
Ans 3 2 3 3 3 3 1 2 4 3




